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. Explain why a lump-sum government transfer can entice some workers to stop working (and entices no one to

start working) while the earned income tax credit can entice some people who otherwise would not work to

start working (and entices no one to stop working). (20 473)

. How does the amount of unemployment created by an increase in the minimum wage depend on the elasticity

of labor demand? Do you think an increase in the minimum wage will have a greater unemployment effect in

the fast-food industry orin the lawn-care/landscaping industry? Explain your answer. (20 43 )

. Suppose the Occupational Safety and Health' Administrationwetre to mandate that all punch presses be fitted

with a very expensive device to prevent injuries to worker. This device does not improve the efficiency with
which punch presses operate.,What'does this requirement do to the demand.curye for labor? Explain your

answer. (2047)

. Is the following true, false, or uncertain? “Certain 6ccupations, such as ¢coal mining, are inherently dangerous to

workers’ health and safety. Therefore, unambiguously, the mostappropriate government policy is the

establishment and enforcement of rigid safety and health standards.” Explainyouar answer. (2 0 43 )
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